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1. XpXjiH|
KM HES/2a8/UX| /A H450 x @210 x @80 ea 24,000 |27 & 20214 052 270p
KM A E/D2/2 K| /T H750 x @210 x @80 ea 29,000 |27 & 20214 052 270p
XM E/D2/K|/0RE H750 x @210 x @80 ea 30,000 |27bHE 20214 05€ 270p
KM A /D 2/3| /A H450 x @210 x @80 ea 24,000 |27b8 & 20214 052 270p
KM A8/ 5/2| A4/ H750 x @210 x @80 ea 29,000 |27}8 & 20214 05€ 270p
KM A E/D2/3| /0 H H750 x @210 x @80 ea 30,000 |78 E 20214 052 270p
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2.3 AHH|
E4olg 2l 179,203 |CHBHAM B S| 20211 AHET| Al Z
HEQIR 2l 141,096 |CHBEAM B S| 2021 AHET| A
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1. XpxfH|
KM RFHE/D2/ K| /A H450 x @210 x @80 24,000 24,000 24,000 (2788 20214 05€ 270p
[& Al 24,000 - 24,000
2. ZAH|
Egolg ol 179,203 3,584 3,584 |cietAM S| 20211 AMBEI| A|S = QEHT}
HEOIH ol 141,096 1,411 1,411 |cHszigels) 20219 Aut7| AIS Yt
[& Al - 4,995 4,995
3 7| AH[E|
e ol 74H| 9] 4,995 250 250 |ZSEEAEE 2021 p.219
[& Al 250 - 250
=3 AH|A| 24,250 4,995 29,245
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1. XpxfH|
KM A E/D 2/ 3 K| /Ch H750 x @210 x @80 29,000 29,000 29,000 (278 & 20214 05€ 270p
[2 Al 29,000 - 29,000
2. ZAH|
Egolg ol 179,203 3,584 3,584 |cietAM S| 20211 AMBEI| A|S = QEHT}
HEQR ol 141,096 1,411 1,411 |cHszigels) 20219 Aut7| AIS Yt
[& Al - 4,995 4,995
3 7| AH[E|
e ol 74H| 9] 4,995 250 250 |ZSEEAEE 2021 p.219
[& Al 250 - 250
=3 AH|A| 29,250 4,995 34,245
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AN g/n3/HX|/1EH
S AR H| T 7} (R)
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A
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1. XpxfH|
AMFHE/D2/2X|/02|E  |H750 x @210 x @80 30,000 30,000 30,000 [27pHE 20214 05€ 270p

[2 Al 30,000 - 30,000
2. ZAH|
Egolg ol 179,203 3,584 3,584 |cietAM S| 20211 AMBEI| A|S = QEHT}
HEOIH ol 141,096 1,411 1,411 |cHszigels) 20219 Aut7| AIS Yt

[& Al - 4,995 4,995
3 7| AH[E|
e ol 74H| 9] 4,995 250 250 [Z&AAEE 2021 p.219

[& Al 250 - 250

=3 AH|A| 30,250 4,995 35,245
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S At H| B 7t (R)
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KM R 2/ D2 /3| A/ A H450 x @210 x @80 24,000 24,000 (2788 20214 05€ 270p

2~ Al 24,000 - 24,000
2. ZAHH|
Edolg ol 179,203 3,584 3,584 20211 AtEE7| A|E L QIEHT}
HEOIH ol 141,096 1,411 1,411 202113 AHE| AIB =T

2 Al - 4,995 4,995
3.714
e ol AH|9| 250 250 4 20214 p.219

& Al 250 - 250

ZAHH| A 24,250 4,995 29,245
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1. XX H|
KM AR =/ 2/3| M/ol H750 x @210 x @80 29,000 29,000 (278 & 20214 05€ 270p

2 Al 29,000 - 29,000
2. ZAHH|
Ediolg ol 179,203 3,584 3,584 20211 AtEE7| A|E L QIEHT}
HEOIH ol 141,096 1,411 1,411 20211 AHEEI| AIF = QET}

& Al - 4,995 4,995
3.71A41%
STER Q1 AH|9| 250 250 202144 p.219

& Al 250 - 250

ZAHH| A 29,250 4,995 34,245
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1. x|
KM A E/D2/3|M/18 H750 x @210 x @80 30,000 30,000 [27pHE 20214 05€ 270p

2 Al 30,000 - 30,000
2. ZAH|
Edolg ol 179,203 3,584 3,584 20211 AtEE7| A|E L QIEHT}
HEOIH ol 141,096 1,411 1,411 202113 AHE| AIB =T

2 Al - 4,995 4,995
3.7|A41%
STLER 250 250 4 20214 p.219

2 Al 250 - 250

=3 AH|A| 30,250 4,995 35,245




